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Equations from Proportionality Statements... and back

In Y o€ X , the oC symbol is replaced by = K to make an equation.

equation ---> proportionality statement

To go from an equation to a proportionality statement, replace all the constants with a
proportionality symbol ie Y = KX becomes Y o< X.

1 Write the proportlonahty statement in your notes for each of the followmg equations:
(a) V= 37tf'3 ;the relationship between Vandr (b) = -7-—, between F and v
\/A Fxve
m
(c) same equation as (b); between F and r (d) = 2; betl\rfen F and m,
e o0 Y\
r 178 — [ ¥ .
(e) same equatlon as (d) between F and r () K= , between Rand T
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roportionality statement ----> equation o
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To go from a proportionality statement to an equation, replace the oC symbol with = K
Substitute in a set of values and solve for K. Now use the equation to solve other similar cases.

2. 1@< b3 anda=4whenb=35 whatisawhenb=7? C =37
3. i d oc at? anda=2whent=4andd = 186, whatwultdbewhena 4andt=127
: ol S5
4. prOC% and p=400wheng=5andr=3, whatwillpbewhenq=15andr=5?
=2, 688
5.  If E oc MV? and E=98whenm=4andv =7, what wil E be when m = 10 and v = 42
? : E =8 820
combining the Multiplier Method
6. a) Determine the proportionality statement that describes the data below using the
Multiplier Method. A o ,;( A ( o E’LD
X 0.2 0.4 0.6 08 1
200 50 22.2 12.5 8
b) Write an equation éczlating y and x. c) If x = 0.55, what would ¥ be?
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! Practice

A B « D

> 100 : 120

/A\0<E5 8 200 @AY 60

50 500 40

200 1000 12 30
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" 2. A slider that starts from rest
track covers the distances 4 i
ods, determine the relation

Determine the proportion for cach of the following tables of values.

E F
2 90
o3
E A 54 DE0
16 180
250 450
M N
5 D 3
e
pies 4 24
[6) 81
8 192

t

0

0.8

1.0

152

1.4

d

0

8

20.0

28.8

50

3. An experiment is
two physical quant

and slides down an inclined air
n the times ¢. Using graphical meth-
ship between ¢ and ¢,
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performed to find the relationship between
ities, B and A. The following data is obtained.

A

100

64

49

36

| 25

| 16

B

1299

o

el 39

1.19 | 1.00 | 080

Determine the relationship between B and A.
A =25B>
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